[

EIE-25

LRRNEFHE

ErRIHREXYE
[3 EE]




e

(1]
(BBE)

1 (1) /1T, #EARONEES o BEEDZ N
Y a. AEHAEALD,
FHEC AT

* ma = mgsin 30°

Ny
/0
N
M 0 0 = Nog — mg cos 30° myg
0
a:%g ...... @ N T
F —> >0
3 N
NOZ\/T_mg ...... @ 0 i
QHICET 2 X TOWME ¢ L35L, 2mg 1

1 21 l
l= §at2 ot=

2) v omzzhae F L35 (K1).
SEB RO AR,

0= F — Nysin30°

= ?mg (- @)

(- @)

(3) SHZMAT L EO®S % v EF 5. TALE—REALD,

1
O+mgh:§mv2+0

v = +/2gh



Y Sy ‘E P S RG A
(4) K 2T, EEAEXOKFHITE, Lmg >0

NPR: ma = —pumg 719
_)B

B 2mp = umyg

1 % 2
a = —pug, 6:5w

BNIR S B /N AR D AR I EE 1,

3
a—f=—5ug

B LTk LefiE e S REDHEEE L L35,

ST M OHEEAZ DML D KX T I,

I (1), (2) BrbazRak, EHHRROATEMN

0
2mA = — N sin 30° 1
—

2
B BANIEE R b, AHEIC TR A IO T, "

0= N —mAsin30° — mg cos 30° N

1 V3 /

N —mA - Y .. m
N 2mA 5 M9 ® )

®, @y, "

43 X 3

[ =
I(1) 64  (2)54 (344 (464  I(1) 42 (2 &4



(2]
(BFE)

I (1) AB, AC WBMENS—HT 20T, KOLEME —q L5 &,

_ 2(d—x)
g = — y Q
(2) B i L7
Vo 2Qd-x)
T godS
C T L 724
\%4 2Qx
d—x e0dS
(3) 50%

(2) DoBRIS%EELT,

_ 1 q  2d-=),  2d-2)°Q°
F=g s a 9= o5&
(3)
12 o 22
AU —0_ 47 20d-2)°Q
2&_07 EOSd



I (1) WSGEMADMAM T > 7y —CTHELL 2D, BWOBHIET Lz ZEILTO
Va—VEIZE DT ANVF—HENIRKERD., DL E,

@ @

[
BRIRAFL D,
g +q=0Q1+Q2
q2 HET,
— Cl
= Ch+ Oy

(Q1+Q2)

(2) (1) &S,

g_llzg—z, Q1+ g2 = Q1 — Q2]
0= Q-
(3) ) <.
6= Q-

Lo TP LAV F—13,

(Q_12 + Q_22) _ (ﬁ n ﬁ) (C1Q2 + C2Q1)?

207 ' 20, 2C, 205 )  2C,C5(Ch + C)

WA TEPUCBI A YV a2 — e & L Ot s, |

Ao
(1) 44 (2) e&48  (3)4m
11(1)~(3) % 3 X4



(3]
(BFE)

1 (1) Eh% Py &45. REEARERI,

nRTO

=357

(2) CAFY ABLAOONAVED, ZRERE kLT L,

0=PFPS—kL
P()S nRTo
]{j = — = ———— s e
L 212 ®

II (1) fEOENE Py 0 F 2T, FhORESH 20 0F AL v, SUROEF
B Ao 2, BIES D R B. K0T, Ty

(2) WAV F—DZ lw AU I3,
3 3 3
SRDREFUS L7AEFH WG,

WI:}%@SL—2SLy:%nRﬂ) (- @)

SARDME - BGE Q 13,
Q=AU+W

)
= ZnRTO

MBS EEC I G = DR A AL,

5 3 5




OI +ok AR T 4 L, AAOREKOENZIFELLRY, FRIGHEARIIZS. =41
F—HRAEHI,

(PR V3 —) + (BPET R L F—) = —5
k., koriEE T ETB L,

3 1 3
SnRTy + =kL? = SnRT +0
2n 0o+ 5 2n +

kL?
T=Ty+ ——
0%73nR

7

=50 O
IV (1) &0 % P, R T 2L,

P-3LS =nRT

EZ b A<D &g,

0=%k-2L—PS
2% 0,
6k L>
T, = = 3T
! nRk =220

(2) W=tV F—DZALE AU I3,

3
AU = SnR(3Ty — To) = 3nRTy

ERICL7AEHE W I,

1 1 3
= —k(2L)*> — —kL? = “nRT,
w 2( ) 5 4nR0

SARDR 2 BGE Q 13,

Q=AU +W

15
= ZTLRTQ

fcm

I(1)-(2) F4r (1) -(2) &5 5 111 6 24 IV(1) - (2) % 5 5



PT
ERI#BIXYIE
(3 @8]

)3
bl
B
Ji0
=21
)R




